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Choose the correct rate expression for the reac-
tion below

2MgO + S1 ——= 2Mg + 510,

A. rate =k [MgO] [S1]
B. rate =k [MgO]* [Si]
C, rate =2k [MgO][S1]
impossible to detemine from given infor-

mation



If the reaction rate 1s quadrupled by doubling
the concentration of a reactant, the order of the
reaction with respect to that reactant 1s

A. 1

:
C. 4

D. cannot be determined except by

experiment 2 \
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CH3CHzBr + NaOCH3 —_— CH3CH20CH3 + NaBr

SN2
Rate = k [CH3CH28I'] [NaOCH3]

Total order: 2

CH,CHBrCH, + NaSH  —— » CH,CHSHCH, + NaBr

Rate = k |CH;CHBrCH;|

Total order: 1
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The decomposition of N,O. in carbon tetrachlo- 50x10°s

ride can be represented 40x10*s
C. 20x10%s
N,O. —= 4NO, + O, D. 14x10%s
The reaction rate equation was found to be
} 0.69
rate = (6.9 x 10 M s7) [N,0] 1T
.9 % lo
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If we begin with 30 g of N O, in solution, ap- * "~ 7745 5~
proximately how much time elapses before only -
| g remains?
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Kinetic energy
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In the presence of a catalyst

I. Effective collisions among reac-
tant molecules become more
likely to occur.

H. Chemical equilibrium will shaft
toward the products.

III. The activation energy for the
reaction 1s lowered.

A, 1
, I and III
" IIand III

D. L II,andIII



